[d” sum p_/dnd¢{GeV]

Ratio to ATLAS

[EEY

0.5

7000 GeV pp Underlylng Event

~ L I B B R N B IR 5
- Sum(pT) Density (AWAY) (h| < 2.5, p >0.1 GeV) ]
B B ATLAS 7]
— g Epos 1.99.crmc.1.6.0 default —
B Epos 1.99.crmc.1.6.0 Ihc _
- A Pythia 8.301 default 7]
L s
— 1
%ﬂ“*ﬂ“%ﬂﬁdﬁ:ﬁqﬁhﬁ?‘;ﬁﬁ%\i
[ e o i
B {b%’%@# .HP-.. el S e i T dho...... . Eu'}' ]
" 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 S 10 15 20

P, (leading track) [GeV]

Rivet 3.1.0, = 7.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


